(RN
<

—~
k=)
©
=
=
o
[
[}

S
°
o
) IR S I S
o
SO IR | IS SN R
g :
12 [ :
1_— -------------- E R , ------------
0.95L :2 .
TPlpoT (PCA t%obeamliné[f)

107 1

s I
o L
il R AR L - R
0.95C - . .
10™ 1 10 0, .1
TPp. (PCA t% beamllnef)
T
—=— DQM_Xi__original_PU
—e— DOQM_Xi__pLF_trainOnXi2_PU
—— DQM_Xi_pLF_trainOnXi2_2PU
—— DOM_Xi__ pLF trainOnXi2_3PU
1]
e
>
o I S
=
[S)
o 13— PPITTIT B PEPTTTT BRI BT
T r :
[ad L :
1_— -------------- e, ------------
0.95C T = 5
10™ 1 10 0, -1
TPp, (PCA t%) beamllnep
n=
o
s
o b ooe et ittt e ettt
2
[S]
107t
O 1.0
IS
o
1

1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

z

o(d d.) (cm)

o :
107 1

2 3
- (PCA f%)obeamlinép



	Contents
	Page 1


